Note: IB calls it

System of equations: graphing
+substitution + elimination
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HOMEWORK due before quiz on Thursday, Nov. 8: LOG INTO
www.myimaths.com and finish the Review Worksheets | have
set up for you in this online program.

DON'T FORGET TO LOGIN WITH YOUR PASSWORD |1 GAVE YOU TODAY

Overview

«1 variable-)
A+ [0=5

* 2 variables

&JC+ =1
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The Elimination Method

* Objectives
— Use the elimination method to solve a system of
equations

— The elimination method uses opposites to
eliminate orfof the variables

— Choose an appropriate method to solve a system
of equations

The Elimination Method
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It does not matter if you manipulate the equation differently as far as you are able
to ELIMINATE a variable. See below, same system /s previous slide.
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like to give the answer as the

L{ = 3'3" I coordinates of a point
Skj 21=4 @

This point will be which point???




Choosing a Method

6x+y=10 % JO T .(. T'Of'! The "y" is already isolated in
y=3x+5 SU 5 f i one of the equation
2x=3y=-20 ‘e‘ { ‘ .f] CLT ' bc the "-5y" and "5y" would
1m , 100 easily eliminate when we add
4x+ Sy =14 the 2 equations
G Jh=~T1 Most students would It is fairly easy to manipulate the
lise ELIMINATION. system by multiplying 1st equa. by
8a -_— 4b - 25 However, some may want to use SUBSTITUTIQN (*2)
Hy isolating the "b" in 1st equation.
y=3x+2 SUBS;IT;TION’ using the bc the equation are given in the
y-metho f s
y=—L x+7 |ORGRAPHING,ifyouhavd 'O O YTTX
4 graphing paper.

What is the point of learning this? --> SOLVE WORD PROBLEMS (real life situations)
More examples of one equation or Simultaneous!

In the display window of the local Take a rectangle where one side is
store there are bicycles.and 3cm longer than the other. If the
tricycles. There areand perimeter is 30cm, what is the
21 wheels. How many bicycles length of each side.

and tricycles are in the displgy? 5 fe,n 7’41 cd) w)ﬂfn_
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Now solve by substitution. Take (3+s)

Now solve by ellmlnatzon by multiplying A . i
and put it in the second equation instead of

1st equation by (-2) or (-3)
You can also solve by substitution by isolating
the x or y in _1st equation (i.e. y=9-x)



Typical word problem. Each person/situation will create each equation

Rent-a-Car

Deema and Ramzi both rent cars from the same agency. The

the car forEIdays and drove the car(450
car for@:lays and drove his ca @ '

51275dhs,)whlle Ramzi had to pay
per day and the mileage charge?

d = price ig@% (c“\s)
m- ﬁ;r, R ?Q(‘ miee(c%s)
12+S = ‘5 OL s L{ SO rre Now solve by elimination by

multiplying 1st equation by

9SS0 = €& + 6O

dhs. What was the cost



